
54

DAVEY WATER PRODUCTS PTY LTD. This price list is effective 1st July, 2017. 
The prices indicated are in $AUS (unless otherwise specified) and are subject to alteration without notice. 
Drawings are indicative only, product appearance may change slightly. 
‘No Longer Available’ items are identified as NLA.    

All prices quoted are 
exclusive of GST

Davey Spa Pool Booster Pumps
QB Series Single Speed Booster Pump, 1500w, 3 Pin Plug QB2001-C38 QB2001AUS-C38
QB Series Single Speed Booster Pump, 1850w, 3 Pin Plug QB2501-C38 QB2501AUS-C38
QB Series Single Speed Booster Pump, 2200w, 3 Pin Plug QB3001-C38 QB3001AUS-C38
QB Series Single Speed Booster Pump, 1500w, AMP Plug QB2001-AMP QB2001AUS-AMP
QB Series Single Speed Booster Pump, 1850w, AMP Plug QB2501-AMP QB2501AUS-AMP
QB Series Single Speed Booster Pump, 2200w, AMP Plug QB3001-AMP QB3001AUS-AMP

® Rainbow Pool Products
PO Box 2388, Mansfield Qld 4122
Telephone STD  61-7-3849 5385
Facsimile STD  61-7-3849 5384
Email: info@rainbowpoolproducts.com.au
Web: www.rainbowpoolproducts.com.au



4

S
P

A
 P

O
O

L 
P

U
M

P
S

 &
 E

Q
U

IP
M

E
N

T

55

DAVEY WATER PRODUCTS PTY LTD. This price list is effective 1st July, 2017. 
The prices indicated are in $AUS (unless otherwise specified) and are subject to alteration without notice. 
Drawings are indicative only, product appearance may change slightly. 
‘No Longer Available’ items are identified as NLA.   

All prices quoted are 
exclusive of GST

Davey Spa Pool Booster Pumps
QB Series Single Speed Booster Pump, 1500w, 3 Pin Plug QB2001-C38 QB2001AUS-C38
QB Series Single Speed Booster Pump, 1850w, 3 Pin Plug QB2501-C38 QB2501AUS-C38
QB Series Single Speed Booster Pump, 2200w, 3 Pin Plug QB3001-C38 QB3001AUS-C38
QB Series Single Speed Booster Pump, 1500w, AMP Plug QB2001-AMP QB2001AUS-AMP
QB Series Single Speed Booster Pump, 1850w, AMP Plug QB2501-AMP QB2501AUS-AMP
QB Series Single Speed Booster Pump, 2200w, AMP Plug QB3001-AMP QB3001AUS-AMP

ITEM NOTES DESCRIPTION
QTY

REQ’D PART NO.
LIST PRICE

(AUS $) UNIT

1 Screw M4*8  8 GB9074.1-88 1.60 ea
2 Fan Cover  1 B136-04 19.00 ea
3 Retaining clip  1 B240-12 1.60 ea
4 Fan    1 B444-08 10.30 ea
5 Shaft seal - D20  1 B182-02 1.60 ea
6 Bolt M5*180  4 GB5780-86 6.50 ea
7 Rear flange   1 B182-03 44.50 ea
8 Wave Washer D47  1 D47 1.60 ea
9 Bearings 6204-2Rs/Z3  2 GB276-94 29.10 ea
10 Rotor - QB2001  1 B443.01-200 139.80 ea
10 Rotor - QB2501  1 B443.01-250 149.90 ea
10 Rotor - QB3001  1 B443.01-300 158.90 ea
11 Stator - QB2001  1 B443.02-200 446.00 ea
11 Stator - QB2501  1 B443.02-250 491.90 ea
11 Stator - QB3001  1 B443.02-300 544.00 ea
12 Motor frame  1 B137-12 63.50 ea
13 Front Flange  1 B444-02 44.50 ea
14 Foot  1 B444-03 15.10 ea
15 Screw M8*16  4 GB70-85 2.60 ea
16,17,18 Barrel Union Assy  2 32569 21.50 ea
16 Nut - QB AUS (Fine thread)  2 403116 4.10 ea
17 Tail - QB AUS (Fine Thread)  2 403117 3.90 ea
18 O-ring - QB AUS (Fine Thread)  2 403118 1.60 ea
18 O-ring - D70*3.1  2 D7031 1.60 ea
19 Pump Body  1 B445-0.2B 152.70 ea
19 Pump Body - QB AUS (Fine Thread)  1 403120 34.90 ea
20 Mechanical Seal - SB-16  1 SB16SP 40.50 ea
21 Impeller - QB2001 & QB2002  1 B351-04B 63.50 ea
21 Impeller - QB2501 & QB2502  1 B358-02B 69.90 ea
21 Impeller - QB3001 & QB3002  1 B358-02C 82.40 ea
22 Pump cover  1 B445-01 95.20 ea
22 Pump Cover - QB AUS (Fine Thread)  1 403119 39.30 ea
24 Screw M5*18 & Washer  8 GB818-85 2.60 ea
26 Drain Plug & O-ring  3 B351-09A 5.70 ea
27 Waterproof Washer  1 B170-05 1.60 ea
28 Terminal box bottom enclosure  1 B312-08-02 19.10 ea
29 Connection Pole  1 B263-0303 1.60 ea
30 Screw ST3.5*16  7 GB848-85 1.60 ea
31 Capacitor - QB2001 & QB2002  1 30PV45D 38.10 ea
31 Capacitor - QB2501/2  & QB3001/2  1 40PV45D 44.50 ea
32 O-ring - D135*2.4  1 B351-12-135 1.60 ea
33 Terminal box top  1 B312-08-01 8.10 ea
34 Cable Gland  1 B258-03 1.60 ea

Motor QB2001-AMP  1 B443.00-2-AMP 515.20 ea
Motor QB2501-AMP  1 B443.00-2.5-AMP 566.50 ea
Motor QB3001-AMP  1 B443.00-3-AMP 632.60 ea
Motor QB2001-C38  1 B443.00-2-C38 510.20 ea
Motor QB2501-C38  1 B443.00-2.5-C38 566.50 ea
Motor QB3001-C38  1 B443.00-3-C38 627.70 ea
Power Cable - C38  1 403082 30.70 ea
Power Cable - AMP  1 403083 32.30 ea
O-ring  Casing - Not Illustrated 1 40019 16.30 ea



56

DAVEY WATER PRODUCTS PTY LTD. This price list is effective 1st July, 2017. 
The prices indicated are in $AUS (unless otherwise specified) and are subject to alteration without notice. 
Drawings are indicative only, product appearance may change slightly. 
‘No Longer Available’ items are identified as NLA.    

All prices quoted are 
exclusive of GST

Davey Spa Pool Booster Pumps
QB Series Two Speed Booster Pump, 1500w, AMP Plug QB2002-AMP QB2002AUS-AMP
QB Series Two Speed Booster Pump, 1850w, AMP Plug QB2502-AMP QB2502AUS-AMP
QB Series Two Speed Booster Pump, 2200w, AMP Plug QB3002-AMP QB3002AUS-AMP

® Rainbow Pool Products
PO Box 2388, Mansfield Qld 4122
Telephone STD  61-7-3849 5385
Facsimile STD  61-7-3849 5384
Email: info@rainbowpoolproducts.com.au
Web: www.rainbowpoolproducts.com.au



4

S
P

A
 P

O
O

L 
P

U
M

P
S

 &
 E

Q
U

IP
M

E
N

T

57

DAVEY WATER PRODUCTS PTY LTD. This price list is effective 1st July, 2017. 
The prices indicated are in $AUS (unless otherwise specified) and are subject to alteration without notice. 
Drawings are indicative only, product appearance may change slightly. 
‘No Longer Available’ items are identified as NLA.   

All prices quoted are 
exclusive of GST

Davey Spa Pool Booster Pumps
QB Series Two Speed Booster Pump, 1500w, AMP Plug QB2002-AMP QB2002AUS-AMP
QB Series Two Speed Booster Pump, 1850w, AMP Plug QB2502-AMP QB2502AUS-AMP
QB Series Two Speed Booster Pump, 2200w, AMP Plug QB3002-AMP QB3002AUS-AMP

ITEM NOTES DESCRIPTION
QTY

REQ’D PART NO.
LIST PRICE

(AUS $) UNIT

1 Screw M4*8  8 GB9074.1-88 1.60 ea
2 Fan Cover  1 B136-04 19.00 ea
3 Retaining clip  1 B240-12 1.60 ea
4 Fan    1 B444-08 10.30 ea
5 Shaft seal - D20  1 PD520 1.60 ea
6 Bolt M5*195  4 402759 6.50 ea
7 Rear flange   1 B182-03 44.50 ea
8 Wave Washer D47  1 D47 1.60 ea
9 Bearings 6204-2Rs/Z3  2 GB276-94 29.10 ea
10 Acentric switch  1 L19-304Y-1SP 15.10 ea
11 Screw M5*18 & Washer  2 GB818-85 2.60 ea
12 Acentric switch  1 L19-304Y-1SP 15.10 ea
13 Rotor - QB2002  1 B444.01-200 142.70 ea
13 Rotor - QB2502  1 B444.01-250 156.00 ea
13 Rotor - QB3002  1 B444.01-300 167.90 ea
14 Stator - QB2002  1 B444.02-200 535.30 ea
14 Stator - QB2502  1 B444.02-250 563.10 ea
14 Stator - QB3002  1 B444.02-300 595.80 ea
15 Motor frame  1 B137-12 63.50 ea
16 Front Flange  1 B444-02 44.50 ea
17 Foot  1 B444-03 15.10 ea
18 Screw M8*16  4 GB70-85 2.60 ea
19,20,21 Barrel Union Assy  2 32569 21.50 ea
19 Nut - QB AUS (Fine thread)  2 403116 4.10 ea
20 Tail - QB AUS (Fine Thread)  2 403117 3.90 ea
21 O-ring - QB AUS (Fine Thread)  2 403118 1.60 ea
21 O-ring - D70*3.1  2 D7031 1.60 ea
22 Pump Body  1 B445-0.2B 152.70 ea
22 Pump Body - QB AUS (Fine Thread)  1 403120 34.90 ea
23 Mechanical Seal - SB-16  1 SB16SP 40.50 ea
24 Impeller - QB2001 & QB2002  1 B351-04B 63.50 ea
24 Impeller - QB2501 & QB2502  1 B358-02B 69.90 ea
24 Impeller - QB3001 & QB3002  1 B358-02C 82.40 ea
25 Pump cover  1 B445-01 95.20 ea
25 Pump Cover - QB AUS (Fine Thread)  1 403119 39.30 ea
26 & 27 Screw M5*18 & Washer  8 GB818-85 2.60 ea
29 Drain Plug & O-ring  3 B351-09A 5.70 ea
30 Waterproof Washer  1 B170-05 1.60 ea
31 Terminal box botton enclosure  1 B313-08-02 19.10 ea
32 Connection Pole  1 B263-0303 1.60 ea
33 Screw ST3.5*16  7 GB848-85 1.60 ea
34 Capacitor - QB2001 & QB2002  1 30PV45D 38.10 ea
34 Capacitor - QB2501/2  & QB3001/2  1 40PV45D 44.50 ea
35 O-ring - D135*2.4  1 B351-12-135 1.60 ea
36 Terminal box top  1 B312-08-01 8.10 ea
37 Cable Gland  1 B258-03 1.60 ea

Motor QB2002-AMP  1 B444.00-2-AMP 676.70 ea
Motor QB2502-AMP  1 B444.00-2.5-AMP 723.90 ea
Motor QB3002-AMP  1 B444.00-3-AMP 768.00 ea
Power Cable - AMP  1 403084 43.70 ea
O-ring  Casing - Not Illustrated 1 40019 16.30 ea



58

DAVEY WATER PRODUCTS PTY LTD. This price list is effective 1st July, 2017. 
The prices indicated are in $AUS (unless otherwise specified) and are subject to alteration without notice. 
Drawings are indicative only, product appearance may change slightly. 
‘No Longer Available’ items are identified as NLA.    

All prices quoted are 
exclusive of GST

Davey Spa Pool Booster Pumps
QB Series Single Speed Booster Pump, 0.35kw, AMP Plug QB035-AMP
QB Series Single Speed Booster Pump, 1.1kw, AMP Plug QB1501-AMP
QB Series Single Speed Booster Pump, 1.1kw, 3 Pin Plug QB1501-C38

15

2323
3326

28

35

12

14
13

16
17

20

21

292734
32

31

3025
24

22

19
18 27

28

29

1

1

2

9

8

1

7

6

1

1

5

4

3

2

11
10



4

S
P

A
 P

O
O

L 
P

U
M

P
S

 &
 E

Q
U

IP
M

E
N

T

59

DAVEY WATER PRODUCTS PTY LTD. This price list is effective 1st July, 2017. 
The prices indicated are in $AUS (unless otherwise specified) and are subject to alteration without notice. 
Drawings are indicative only, product appearance may change slightly. 
‘No Longer Available’ items are identified as NLA.   

All prices quoted are 
exclusive of GST

Davey Spa Pool Booster Pumps
QB Series Single Speed Booster Pump, 0.35kw, AMP Plug QB035-AMP
QB Series Single Speed Booster Pump, 1.1kw, AMP Plug QB1501-AMP
QB Series Single Speed Booster Pump, 1.1kw, 3 Pin Plug QB1501-C38

ITEM NOTES DESCRIPTION
QTY

REQ’D PART NO.
LIST PRICE

(AUS $) UNIT

1 Screw Kit  2 402853 1.40 kit
2 Terminal Box Housing - QB035  1 402854 7.80 ea
2 Terminal Box Housing - QB150  1 402855 7.80 ea
3 O-Ring - Terminal Box Housing  1 402856 2.30 ea
4 Capacitor Gland  1 402857 0.20 ea
5 Capacitor - QB035  1 402858 10.30 ea
5 Capacitor - QB150  1 402859 17.20 ea
6 Gland - Power Lead  1 402860 0.20 ea
7 Connection pole kit  1 402861 1.90 kit
8 Screws - Terminal Box QB035  4 402862 0.30 ea
8 Screws - Terminal Box QB150  4 402863 0.30 ea
9 Gasket - Terminal Box QB035  1 402864 0.40 ea
9 Gasket - Terminal Box QB150  1 402865 0.40 ea
10 Plug - Terminal Box  1 402866 0.30 ea
11 Nut - Terminal Box  1 402867 0.80 ea
12 Power Lead - QB035  1 402868 22.90 ea
12 Power Lead - QB150  1 402869 22.90 ea
13 Fan - QB035  1 402870 5.30 ea
13 Fan - QB150  1 402871 5.30 ea
14 Fan Spring - QB035  1 402872 0.30 ea
14 Fan Spring  - QB150 1 402873 0.30 ea
15 Screw - Fan Cowl QB035  3 402874 0.30 ea
15 Screw - Fan Cowl QB150  4 402875 0.30 ea
16 Fan Cowl - QB035  1 402876 8.30 ea
16 Fan Cowl - QB150  1 402877 10.00 ea
17 Thru Bolt - QB035  4 402878 2.00 ea
17 Thru Bolt - QB150  4 402879 2.30 ea
18 Back Cover - QB035  1 402880 16.00 ea
18 Back Cover - QB150  1 402881 18.00 ea
19 O-Ring - Back cover QB035  1 402882 1.90 ea
19 O-Ring - Back cover QB150  1 402883 2.40 ea
20 Wave Washer - QB035  1 402884 1.50 ea
20 Wave Washer - QB150  1 402885 1.50 ea
21 Motor Shell - QB035  1 402886 30.60 ea
21 Motor Shell - QB150  1 402887 40.80 ea
22 Stator - QB035  1 402888 98.50 ea
22 Stator - QB150  1 402889 161.20 ea
23 Bearing - QB035  2 402890 21.00 ea
23 Bearing - QB150  2 402891 15.20 ea
24 Rotor Assembly - QB035  1 402892 51.90 ea
24 Rotor Assembly - QB150  1 402893 57.60 ea
25 Front Cover - QB035  1 402894 25.90 ea
25 Front Cover - QB150  1 402895 35.10 ea
26 Shaft Washer - QB035  1 402896 0.50 ea
26 Shaft Washer - QB150  1 402897 0.50 ea
27 O-Ring - Barrel Union  2 402898 1.40 ea
28 Tail - Barrel Union  2 402899 3.90 ea
29 Nut - Barrel Union  2 402900 4.10 ea
30 Pump Casing - QB035  1 402704 34.90 ea
30 Pump Casing - QB150  1 402902 56.00 ea
31 Mechanical seal  1 402903 14.60 ea
32 Impeller - QB035  1 402904 19.60 ea
32 Impeller - QB150  1 402905 24.80 ea
33 O-Ring - Front Casing QB035  1 402906 3.90 ea
33 O-Ring - Front Casing QB150  1 402907 4.60 ea
34 Pump Cover - QB035  1 402908 37.40 ea
34 Pump Cover - QB150  1 402909 49.10 ea
35 Screws - Front Casing QB035  6 402910 0.40 ea
35 Screws - Front Casing QB150  8 402911 0.40 ea



60

DAVEY WATER PRODUCTS PTY LTD. This price list is effective 1st July, 2017. 
The prices indicated are in $AUS (unless otherwise specified) and are subject to alteration without notice. 
Drawings are indicative only, product appearance may change slightly. 
‘No Longer Available’ items are identified as NLA.    

All prices quoted are 
exclusive of GST

Davey Spa Pool Booster Pumps
QB Series Single Speed Booster Pump, 1.85kw, 3 Phase QB25013

ITEM NOTES DESCRIPTION
QTY

REQ’D PART NO.
LIST PRICE

(AUS $) UNIT

1 Fan Cover  1 B136-04 19.00 ea
2 Fan Spring  1 402873 0.30 ea
3 Fan    1 B444-08 10.30 ea
4 Back Cover  1 403045 64.20 ea
5 O-Ring   1 403046 1.80 ea
6 Wave Washer D47  1 D47 1.60 ea
7 Bracket - Motor  1 403047 7.80 ea
8 Terminal box   1 403048 13.40 ea
9 Gasket - Terminal Box  1 403049 2.50 ea
10 Stator  1 403050 436.80 ea
11 Bearings 6204-2Rs/Z3  2 GB276-94 29.10 ea
12 Rotor  1 403051 148.70 ea
13 Front cover  1 403052 45.40 ea
14 Shaft seal ring  1 403053 0.40 ea
15 Pump housing  1 403054 97.40 ea
16 Mechanical Seal - SB-16  1 SB16SP 40.50 ea
17 Impeller Key  1 403056 0.40 ea
18 Impeller  1 B358-02CT 79.70 ea
19 O-Ring - Impeller Nut  1 403057 0.30 ea
20 Impeller Nut  1 403058 5.90 ea
21 O-ring - Pump Cover  1 403059 16.30 ea
22 Pump Cover   1 403060 71.80 ea
23 Drain Plug & O-ring  3 B351-09A 5.70 ea
24 Barrel Union Assy  2 32569 21.50 ea
25 O-ring - D70*3.1  2 D7031 1.60 ea

7

5

22
25

17

11
11

4
6

2

19

20

23

13

1210

1 3

14

15
16

2118

24
9

8

® Rainbow Pool Products
PO Box 2388, Mansfield Qld 4122
Telephone STD  61-7-3849 5385
Facsimile STD  61-7-3849 5384
Email: info@rainbowpoolproducts.com.au
Web: www.rainbowpoolproducts.com.au


